
COVER SHEET
OBSERVATION TOWER FLAT NO.102 , D-11 , SPANDAN RESIDENCY , POPULAR NAGAR ,

 OPP.MAI MANGESHKAR HOSPITAL , PUNE-MUMBAI BYPASS
 HIGHWAY ; WARJE, PUNE, INDIA - 411058,

Contact : +91 9552541988 Email : cvpcepl@gmail.com

" M/S. C.V.PATIL & ASSOCIATES "

OFFICE OF PUBLIC WORKS

HARRIS COUNTY -  GEORGIA
BOARD OF COMMISSIONERS

OBSERVATION TOWER

PROJECT MIDPOINT COORDINATE

LOCATION SKETCH

ELLERSLIE PARK

LATITUDE  : 32-37'-37.4" N 
LONGITUDE : 84-48'-13.0" W 

ELLERSLIE PARK, GA

AutoCAD SHX Text
REVISION DATES

AutoCAD SHX Text
DRAWING No.

AutoCAD SHX Text
CHECKED:

AutoCAD SHX Text
BACKCHECKED:

AutoCAD SHX Text
CORRECTED:

AutoCAD SHX Text
VERIFIED:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
SHEET 1 OF 10

AutoCAD SHX Text
SASTRY & ASSOCIATES, INC.

AutoCAD SHX Text
ALPHARETTA, GA 30022

AutoCAD SHX Text
11030 JONES BRIDGE ROAD, SUITE 201

AutoCAD SHX Text
PHONE: 678-366-9375

AutoCAD SHX Text
06-14-2023

AutoCAD SHX Text
SASTRY STAMP

AutoCAD SHX Text
N.

uspra
Snapshot



12
'-2

"

12'-2"

12'-2" 12'-2"
12'-2"

12
'-2

"

ELEVATION
TYP. FENCE  ARRANGEMENT ALL FOUR SIDES

PVC FENCE
(TYP.)

CONCRETE FLOORING

SWING OUT DUBBLE DOOR
WITH SOFT CLOSE
(TYP.)

BASE PLAN
SCALE=1:100

SCALE=1:100

GENERAL ARRANGEMENT
OBSERVATION TOWER

SEATING
(TYP.)

PEDESTAL
FOR FLOOD LIGHTS (TYP.)

42'-11"

17'-0"

2'
-4

"
(T

YP
.)

2'-4"
(TYP.)

 FLAT NO.102 , D-11 , SPANDAN RESIDENCY , POPULAR NAGAR ,
 OPP.MAI MANGESHKAR HOSPITAL , PUNE-MUMBAI BYPASS

 HIGHWAY ; WARJE, PUNE, INDIA - 411058,
Contact : +91 9552541988 Email : cvpcepl@gmail.com

" M/S. C.V.PATIL & ASSOCIATES "

3'-
0"

60
'-0

"
12

'-0
"

72
'-0

"

25'-2"

12'-2" 12'-2"

A

5'-0" 7'-3" 5'-0"7'-3"

24'-4"

5'
-6

"
5'

-6
"

4'
-6

"

3'-0"

2'
-0

"
GALVANIZED STEEL

SAFETY MESH
ALL AROUND THE

STAIRCASE
(TYP.)

STAIRCASE SUPPORTING
COLUMN (TYP.)

SPIRAL STAIRCASE
WITH S.S. HANDRAILS

LIGHTENING
ARRESTOR

COLUMN
TYP.

27'-0"

4'
-6

"

GALVANIZED
STEEL FENCE
WELDED TO BACK
OF RAILING (TYP.)

ELEVATION
SCALE=1:100

SEATING
(TYP.)

EL+60'.00
(T.O.S.)
PLATFORM-3

EL+40'.00
(T.O.S.)
PLATFORM-2

EL+20'.00
(T.O.S.)
PLATFORM-1

A

4'-3"4'-3"

10
'

5'
-0

"
14

'-6
"

5'
-0

"

5'-0" 14'-6" 5'-0"

HANDRAIL

ALUMINUM
GRATING (TYP.)

SCALE=1:50
SECTION  ' A - A ' PLAN AT EL+60'.00

DN

RAILING
(TYP.)

SEATING

AutoCAD SHX Text
REVISION DATES

AutoCAD SHX Text
DRAWING No.

AutoCAD SHX Text
CHECKED:

AutoCAD SHX Text
BACKCHECKED:

AutoCAD SHX Text
CORRECTED:

AutoCAD SHX Text
VERIFIED:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
20

AutoCAD SHX Text
SCALE IN FEET

AutoCAD SHX Text
0

AutoCAD SHX Text
40

AutoCAD SHX Text
80

AutoCAD SHX Text
SHEET 2 OF 10

AutoCAD SHX Text
SASTRY & ASSOCIATES, INC.

AutoCAD SHX Text
ALPHARETTA, GA 30022

AutoCAD SHX Text
11030 JONES BRIDGE ROAD, SUITE 201

AutoCAD SHX Text
PHONE: 678-366-9375

AutoCAD SHX Text
06-14-2023

AutoCAD SHX Text
SASTRY STAMP

uspra
Snapshot



GENERAL NOTES
OBSERVATION TOWER FLAT NO.102 , D-11 , SPANDAN RESIDENCY , POPULAR NAGAR ,

 OPP.MAI MANGESHKAR HOSPITAL , PUNE-MUMBAI BYPASS
 HIGHWAY ; WARJE, PUNE, INDIA - 411058,

Contact : +91 9552541988 Email : cvpcepl@gmail.com

" M/S. C.V.PATIL & ASSOCIATES "

SPECIFICATIONS - GEORGIA STANDARD SPECIFICATIONS, 2021 EDITION AS MODIFIED BY
CONTRACT DOCUMENTS.

REINFORCING STEEL - PLACE AND TIE ALL REINFORCING STEEL IN ACCORDANCE  WITH THE
GEORGIA DOT SPECIFICATIONS. DO NOT WELD REINFORCING STEEL.

CHAMFER - CHAMFER ALL EXPOSED CONCRETE EDGES 34" UNLESS OTHERWISE NOTED.

CONCRETE - PAY ITEM 500-3101 INCLUDES COLUM FOUNDATIONS, CONCERET PAD, AND
CONCRETE SEATING AS SHOWN IN THE PLANS.

CONCRETE COVER - MAINTAIN 2 INCHES COVER MINIMUM ON ALL REINFORCING  STEEL UNLESS
OTHERWISE NOTED.

STRUCTURAL STEEL - ALL STRUCTURAL STEEL TO BE GALVANIZED STEEL.

WELDING  -  ALL  WELDING  ON GEORGIA DOT PROJECTS  SHALL  BE PERFORMED BY CERTIFIED
WELDERS  WHO  HAVE  IN  THEIR  POSSESSION   A  CURRENT  WELDING CERTIFICATION CARD
ISSUED  BY THE OFFICE OF MATERIALS AND TESTING.  USE  ONLY E70XX  (EXCLUDING E7014  AND
E7024)  LOW-HYDROGEN ELECTRODES FOR MANUAL
SHIELDED METAL ARC WELDING.

INCIDENTAL ITEMS - INCLUDE  THE  COST  INCIDENTAL  TO  THE WORK THAT IS NOT SPECIFICALLY
COVERED BY  THE GEORGIA STANDARD SPECIFICATIONS,   SUPPLEMENTAL SPECIFICATIONS
AND/OR  SPECIAL PROVISIONS   IN THE  OVERALL  BID  SUBMITTED. THIS INCLUDES INSTALLATION
OF SAFETY MESH AROUND SPIRAL STAIRS AND PLATFORMS AND OTHER INCIDENTAL ITEMS
NECESSARY TO COMPLETE THE WORK.

FOOTING EXCAVATION - EXCAVATE FOR SPREAD FOOTING WITH CARE TO PREVENT
UNDERCUTTING ON UNDISTURBED SOIL. INCLUDE THE COST OF EXCAVATION IN THE OVERALL BID
SUBMITTED.

SPIRAL STAIRS - THE COST OF MATERIAL AND LABOR FOR INSTALLATION OF ALUMINUM SPIRAL
STAIRS AND ALUMINUM GRATING SHALL BE INCLUDED IN THE PAY ITEM 850-9999.

SPECIFICATIONS:

DESIGN DATA GENERAL NOTES

PAY ITEM
NUMBER     QUANTITY  UNIT      PAY ITEM

005 - 0002      LS  LS INSTALLATION OF LIGHTING FACILITIES
500 - 3101      85 CY CLASS A CONCRETE
501 - 3000   85000    LB STR STEEL
511 - 1000   8250 LB BAR REINF STEEL
515 - 2105     130          LF 42 IN METAL SAFETY RAIL
515 - 2135     140  LF 54 IN METAL SAFETY RAIL
643 - 1462     116  LF CH LK FENCE, PVC, 10FT, 9GA
643 - 4000     140  LF WOVEN WIRE FENCE
643 - 8030         4  EA GATE, CHAIN LINK PVC COAT
850 - 9999      5050          LB      ALUMINUM SPIRAL STAIRS

SUMMARY OF QUANTITIES

STRUCTURAL STEEL:

CONNECTION BOLTS --------------------------------------ASTM A325

CONNECTION NUTS ---------------------------------------ASTM A563

CONNECTION WASHERS ----------------------------------------F436

GEOTECHNICAL DATA

CONCRETE: ---------------------------------CLASS A, f'c = 3,000 PSI

REINFORCEMENT STEEL: ------------------------GRADE 60, fy = 60,000 PSI

OTHER STRUCTURAL STEEL -------------- ASTM 709 GRADE 36, fy = 36,000 PSI

ROLLED STEEL BEAMS ----------------- ASTM A572 GRADE 50, fy = 50,000 PSI

GALVANIZED STEEL GRATING  ---------------------------------ASTM A36

SQUARE HSS ----------------------------- ASTM A500, fy = 46,000 PSI

SOIL BEARING PRESSURE --------------------------------- 4,500 PSF

· AISC STEEL CONSTRUCTION MANUAL 14TH ED., 2011

· INTERNATIONAL BUILDING CODE, IBC 2018

· ACI 318-14 BUILDING CODE REQUIREMENTS FOR STRUCTURAL CONCRETE

· ASCE/SEI 7-16 MINIMUM DESIGN LOADS AND ASSOCIATED CRITERIA FOR BUILDINGS

       AND OTHER STRUCTURES

DESIGN LOADS:

· PEDESTRIAN LOADING -------------------------------------100 PSF

· WIND LOAD ----------------------------------------------------- 116 MPH

· ROOF LIVE LOAD ---------------------------------------------    20 PSF

· SNOW LOAD  ---------------------------------------------------      5 PSF

· SESIMIC DATA

        RISK CATEGORY ----------------------------------------------III

        SEISMIC DESIGN CATEGORY------------------------------B

        SITE CLASS ------------------------------------------------------D

        SEISMIC IMPORTANCE FACTOR ---------------------1.25

        SD1 ---------------------------------------------------------------0.116

        SDS --------------------------------------------------------------0.136

AutoCAD SHX Text
REVISION DATES

AutoCAD SHX Text
DRAWING No.

AutoCAD SHX Text
CHECKED:

AutoCAD SHX Text
BACKCHECKED:

AutoCAD SHX Text
CORRECTED:

AutoCAD SHX Text
VERIFIED:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
SHEET 3 OF 10

AutoCAD SHX Text
SASTRY & ASSOCIATES, INC.

AutoCAD SHX Text
ALPHARETTA, GA 30022

AutoCAD SHX Text
11030 JONES BRIDGE ROAD, SUITE 201

AutoCAD SHX Text
PHONE: 678-366-9375

AutoCAD SHX Text
06-14-2023

AutoCAD SHX Text
SASTRY STAMP

uspra
Snapshot



W 8 x 40

H
SS

 1
2 

x 
12

 x
 1

/2

H
SS

 1
2 

x 
12

 x
 1

/2

C9 x 15

5'-0" 14'-6" 5'-0"

W 8 
x 4

0

SECTION ' 2 - 2 '
PLATFORM 3 AT EL+60'.00

W 10 x 30 C 9 x 15

W 8 x 40

H
SS

 1
2 

x 
12

 x
 1

/2

5'-0" 14'-6" 5'-0"

SCALE=1:50

SECTION  ' 1 - 1 '
PLATFORM 3 AT EL+60'.00

SCALE=1:50

H
SS

 1
2 

x 
12

 x
 1

/2

12'-2" 12'-2"

24'-4"

W 10 x 302-L 5 x 5 x 5/8"

W 10 x 30

SUPPORT FRAME

A

B

C

14'-6"

H
SS

 1
2 

x 
12

 x
 1

/2

W 8 
x 4

0

W 8 
x 4

0

W 8 x 40

2-
L 

5 
x 5

 x 
5/

8"
2-

L 
5 

x 
5 

x 
5/

8"
2-

L 
5 

x 
5 

x 
5/

8"

45°

D ROOF

 R
O

U
N

D
 H

SS
 1

2.
75

 Ø
 x

 1
/2

"

12
'-0

"
2'

-4
"

SCALE=1:75

NOTE:-

STRUCTURAL FRAME DETAIL-1
OBSERVATION TOWER

2-L 5 x 5 x 5/8"
2-L 5 x 5 x 5/8"

2-L 5 x 5 x 5/8"

H
SS 12 x 12 x 1/2

EL+60'.00
(T.O.S.)
PLATFORM-3

EL+40'.00
(T.O.S.)
PLATFORM-2

EL+20'.00
(T.O.S.)
PLATFORM-1

A

B

C

D

1. ALL DIMENSIONS ARE IN FEET & INCHES UNLESS OTHERWISE SPECIFIED.
2. ALL LEVEL ARE FEETS.
3. ALL STRUCTURAL STEEL TO BE IN GALVANIZED STEEL.
4. FOR CONNECTION DETAILS D1,2,3,4,7,9 REFER SHEET NO.- 9 OF 10 &

FOR DETAILS D10,15 REFER SHEET NO.- 10 OF 10.

W 8 
x 4

0

DETAIL
D15

 FLAT NO.102 , D-11 , SPANDAN RESIDENCY , POPULAR NAGAR ,
 OPP.MAI MANGESHKAR HOSPITAL , PUNE-MUMBAI BYPASS

 HIGHWAY ; WARJE, PUNE, INDIA - 411058,
Contact : +91 9552541988 Email : cvpcepl@gmail.com

" M/S. C.V.PATIL & ASSOCIATES "

7°

R
O

U
N

D
H

SS
 1

2.
75

 Ø
 x

 1
/2

"
R

O
U

N
D

H
SS

 1
2.

75
 Ø

 x
 1

/2
"

19'-5"

20
'-0

"
20

'-0
"

20
'-0

"

EL+10'.00
(T.O.S.)
REST LANDING

EL+30'.00
(T.O.S.)
REST LANDING

W 8 x 40

W 10 x 30

W
 1

0 
x 

30

W
 1

0 
x 

30

W 8 x 40

W
 8

 x
 4

0

W
 8

 x
 4

0

W 10 x 30W 10 x 30

W 10 x 30W 10 x 30

W 10 x 30W 10 x 30

W 8 x 40C
 9

 x
 1

5

C
 9

 x
 1

5

C
 9

 x
 1

5

C
 9

 x
 1

5

C
 9

 x
 1

5

C
 9

 x
 1

5

C
 9

 x
 1

5

C
 9

 x
 1

5

C 9 x 15

C 9 x 15

W 8 x 40

1

5'
-0

"
14

'-6
"

5'
-0

"

5'-0" 14'-6" 5'-0"

1'
-5

1 2"

3'
-4

1 2"

HANDRAIL

2

2" x 3/16" ALUMINUM
GRATING (TYP.)

SCALE=1:50

SECTION  ' A - A '
PLATFORM AT EL+60'.00

C 9 x 15

C 9 x 15

C 9 x 15

C 9 x 15

C 9 x 15

C 9 x 15

W 10 x 30

W 8 x 40

W 10 x 30

W 8 x 40

1

2

2'-11" 2'-11" 2'-11" 2'-11" 2'-11"

OPENING FOR
STAIRCASE

2'
-1

1"
2'

-1
1"

2'
-1

1"
2'

-1
1"

2'
-1

1"

DETAIL
D7

DETAIL
D9

DETAIL
D2

DETAIL
D1

DETAIL
D3

DETAIL
D10

DN

DETAIL
D4

C
 9

 x
 1

5

C
 9

 x
 1

5

W 8 x 40

W 10
 x 

30 W 10 x 30

A1

B1

C1

A1

B1

C1

SEATING

2'-1" 2'-1"

1'
-1

1"

EL+50'.00
(T.O.S.)
REST LANDING

AutoCAD SHX Text
REVISION DATES

AutoCAD SHX Text
DRAWING No.

AutoCAD SHX Text
CHECKED:

AutoCAD SHX Text
BACKCHECKED:

AutoCAD SHX Text
CORRECTED:

AutoCAD SHX Text
VERIFIED:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
20

AutoCAD SHX Text
SCALE IN FEET

AutoCAD SHX Text
0

AutoCAD SHX Text
40

AutoCAD SHX Text
80

AutoCAD SHX Text
SHEET 4 OF 10

AutoCAD SHX Text
SASTRY & ASSOCIATES, INC.

AutoCAD SHX Text
ALPHARETTA, GA 30022

AutoCAD SHX Text
11030 JONES BRIDGE ROAD, SUITE 201

AutoCAD SHX Text
PHONE: 678-366-9375

AutoCAD SHX Text
06-14-2023

AutoCAD SHX Text
SASTRY STAMP

uspra
Snapshot



W 8 
x 4

0

C 9 x 15

H
SS

 1
2 

x 
12

 x
 1

/2

2-L 5 x 5 x 5/8"

H
SS

 1
2 

x 
12

 x
 1

/2

14'-6"

14'-6" 5'-3"

SECTION  ' 4 - 4 '
PLATFORM AT EL+40'.00

SCALE=1:50

H
SS

 1
2 

x 
12

 x
 1

/2
H

SS
 1

2 
x 

12
 x

 1
/2

SECTION  ' 3 - 3 '
PLATFORM AT EL+40'.00

SCALE=1:50

W
 1

0 
x 

30

2-L 5 x 5 x 5/8"

W 10 x 30

W 10 x 30

W
 1

0 
x 

30

2-L 5 x 5 x 5/8"

W 10 x 30

W 10
 x 

30

W
 1

0 
x 

30

W 10
 x 

30
W 10 x 30

W 10 x 30

W 10 x 30

W 10 x 30

2-L 5 x 5
 x 5

/8"2-L 5 x 5 x 5/8"

19'-5"

19
'-5

"

4'
-1

"
1'

-8
" DETAIL D6

HANDRAIL

UP

H
SS

 1
2 

x 
12

 x
 1

/2
"

2-L 5 x 5 x 5/8" W 10 x 30

19'-5"

5

H
SS

 1
2 

x 
12

 x
 1

/2
"

2-L 5 x 5 x 5/8"

1'-8" 4'-1" 15'-4"
19'-5"

W 10 x 30

6

NOTE:-

STRUCTURAL FRAME DETAIL-2
OBSERVATION TOWER

1. ALL DIMENSIONS ARE IN FEET & INCHES UNLESS OTHERWISE SPECIFIED.
2. ALL STRUCTURAL STEEL TO BE IN GALVANIZED STEEL.
& FOR CONNECTION DETAILS D1,5,6,8 REFER SHEET NO.- 9 OF 10 &

FOR DETAILS D10 REFER SHEET NO.- 10 OF 10.

SCALE=1:25

SECTION  ' 5 - 5 '
PLATFORM AT EL+20'.00

H
SS

 1
2 

x 
12

 x
 1

/2
"

H
SS

 1
2 

x 
12

 x
 1

/2
"

SCALE=1:25

SECTION  ' 6 - 6 '
PLATFORM AT EL+20'.00

5

6

SCALE=1:50

SECTION  ' C - C '
PLATFORM AT EL+20'.00

8'-7" 2'-4" 8'-7"

36
° 36°

DETAIL
   D8

DETAIL
D5 DETAIL

D1

 FLAT NO.102 , D-11 , SPANDAN RESIDENCY , POPULAR NAGAR ,
 OPP.MAI MANGESHKAR HOSPITAL , PUNE-MUMBAI BYPASS

 HIGHWAY ; WARJE, PUNE, INDIA - 411058,
Contact : +91 9552541988 Email : cvpcepl@gmail.com

" M/S. C.V.PATIL & ASSOCIATES "

R
O

U
N

D
H

SS
 1

2.
75

 Ø
 x

 1
/2

"

R
O

U
N

D
H

SS
 1

2.
75

 Ø
 x

 1
/2

"
R

O
U

N
D

H
SS

 1
2.

75
 Ø

 x
 1

/2
"

R
O

U
N

D
H

SS
 1

2.
75

 Ø
 x

 1
/2

"

DN

2-L 5 x 5 x 5/8"

2-
L 

5 
x 

5 
x 

5/
8"

W
 1

0 
x 

30

W
 1

0 
x 

30

W 10 x 30

W 10 x 30

C 9 x 15

C 9 x 15

C 9 x 15

C 9 x 15

2-L 5 x 5 x 5/8"

14'-6" 5'-3"

2'
-1

1"
14

'-6
"

2" x 3/16" ALUMINUM
GRATING (TYP.)

3

4

3

4

SCALE=1:50

SECTION  ' B - B '
PLATFORM AT EL+40'.00

DETAIL
D10

DETAIL D6

2-L 5 x 5 x 5/8"

W 10
 x 

30

UP
DN

C 9 x 15

ALUMINUM
GRATING

(TYP.)

W 10 x 30

2-L 5 x 5 x 5/8"

C 9 x 15

AutoCAD SHX Text
REVISION DATES

AutoCAD SHX Text
DRAWING No.

AutoCAD SHX Text
CHECKED:

AutoCAD SHX Text
BACKCHECKED:

AutoCAD SHX Text
CORRECTED:

AutoCAD SHX Text
VERIFIED:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
20

AutoCAD SHX Text
SCALE IN FEET

AutoCAD SHX Text
0

AutoCAD SHX Text
40

AutoCAD SHX Text
80

AutoCAD SHX Text
SHEET 5 OF 10

AutoCAD SHX Text
SASTRY & ASSOCIATES, INC.

AutoCAD SHX Text
ALPHARETTA, GA 30022

AutoCAD SHX Text
11030 JONES BRIDGE ROAD, SUITE 201

AutoCAD SHX Text
PHONE: 678-366-9375

AutoCAD SHX Text
06-14-2023

AutoCAD SHX Text
SASTRY STAMP

uspra
Snapshot



22'

UP
DN

16'-10"

16
'-1

0"

UP
DN

14'-6"

14
'-6

"

UP
DN

10'

5'
11

'
22

'

STRUCTURAL FRAME DETAIL-2A
OBSERVATION TOWER FLAT NO.102 , D-11 , SPANDAN RESIDENCY , POPULAR NAGAR ,

 OPP.MAI MANGESHKAR HOSPITAL , PUNE-MUMBAI BYPASS
 HIGHWAY ; WARJE, PUNE, INDIA - 411058,

Contact : +91 9552541988 Email : cvpcepl@gmail.com

" M/S. C.V.PATIL & ASSOCIATES "

19'-5"

19
'-5

"

4'
-1

"
1'

-8
"

HANDRAIL

UP

ALUMINUM
GRATING
(TYP.)

SCALE=1:50
PLAN AT EL+20'.00

DN

14'-6" 5'-3"

14
'-6

"

SCALE=1:50
PLAN AT EL+40'.00

UP
DN

ALUMINUM
GRATING (TYP.)

REST LANDING

SCALE=1:50

SECTION  ' C1 - C1 '
PLATFORM AT EL+10'.00

SCALE=1:50

SECTION  ' B1 - B1 '
PLATFORM AT EL+30'.00

SCALE=1:50

SECTION  ' A1 - A1 '
PLATFORM AT EL+50'.00

AutoCAD SHX Text
REVISION DATES

AutoCAD SHX Text
DRAWING No.

AutoCAD SHX Text
CHECKED:

AutoCAD SHX Text
BACKCHECKED:

AutoCAD SHX Text
CORRECTED:

AutoCAD SHX Text
VERIFIED:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
20

AutoCAD SHX Text
SCALE IN FEET

AutoCAD SHX Text
0

AutoCAD SHX Text
40

AutoCAD SHX Text
80

AutoCAD SHX Text
SHEET 5A OF 10

AutoCAD SHX Text
SASTRY & ASSOCIATES, INC.

AutoCAD SHX Text
ALPHARETTA, GA 30022

AutoCAD SHX Text
11030 JONES BRIDGE ROAD, SUITE 201

AutoCAD SHX Text
PHONE: 678-366-9375

AutoCAD SHX Text
06-14-2023

AutoCAD SHX Text
SASTRY STAMP

uspra
Snapshot



HSS 8 x 4 x 3/8"

7°

2'
-4

"

ROOF

HSS 8 x 4 x 3/8"
(TYP.)

24
'-6

"

7'
-3

"
7'

-3
"

5'
-0

"

4'
-1

"
4'

-1
"

4'
-1

"

5'
-0

"

7'-3"7'-3"

HSS 8 x 4 x 3/8"

7

7

NOTE:-

STRUCTURAL FRAME DETAIL-3
OBSERVATION TOWER

1. ALL DIMENSIONS ARE IN FEET & INCHES UNLESS OTHERWISE SPECIFIED.
2. ALL LEVEL ARE FEETS.
3. ALL STRUCTURAL STEEL TO BE IN GALVANIZED STEEL.
4. FOR CONNECTION DETAILS D13,14,16,17,18 REFER SHEET NO.- 10 OF 10.

HSS 8 x 4 x 3/8"
RAFTER (TYP.)

HSS 8 x 4 x 3/8"
PURLIN (TYP.)

SCALE=1:25
SECTION  ' 7 - 7 '

SCALE=1:25

ROOF PLAN
VIEW FROM - ' D - D '

7

7

HSS 6 x 4 x 3/8"
(TYP.)

SINGLE 2 GA GALVANISED STEEL METAL DECK
SCREWED TO TUBE STEEL PURLINS

HSS 8 x 4 x 3/8"
(TYP.)

DETAIL
D16

DETAIL
D18

DETAIL
D14

DETAIL
D14

DETAIL
D14

DETAIL
D13

 FLAT NO.102 , D-11 , SPANDAN RESIDENCY , POPULAR NAGAR ,
 OPP.MAI MANGESHKAR HOSPITAL , PUNE-MUMBAI BYPASS

 HIGHWAY ; WARJE, PUNE, INDIA - 411058,
Contact : +91 9552541988 Email : cvpcepl@gmail.com

" M/S. C.V.PATIL & ASSOCIATES "

DETAIL
D17

DETAIL
D14

AutoCAD SHX Text
REVISION DATES

AutoCAD SHX Text
DRAWING No.

AutoCAD SHX Text
CHECKED:

AutoCAD SHX Text
BACKCHECKED:

AutoCAD SHX Text
CORRECTED:

AutoCAD SHX Text
VERIFIED:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
20

AutoCAD SHX Text
SCALE IN FEET

AutoCAD SHX Text
0

AutoCAD SHX Text
40

AutoCAD SHX Text
80

AutoCAD SHX Text
SHEET 6 OF 10

AutoCAD SHX Text
SASTRY & ASSOCIATES, INC.

AutoCAD SHX Text
ALPHARETTA, GA 30022

AutoCAD SHX Text
11030 JONES BRIDGE ROAD, SUITE 201

AutoCAD SHX Text
PHONE: 678-366-9375

AutoCAD SHX Text
06-14-2023

AutoCAD SHX Text
SASTRY STAMP

uspra
Snapshot

uspra
Snapshot



1"

4'-6"

5'-0"

STEP

STAIRCASE
SUPPORTING COLUMN

WITH THROUGHOUT
PAD PLATE

STEP

C 8 x 13

L1 x 1 x 3/16"

2'
-0

"

2"

10
"

5'-0"
STEP

C 8 x 13

11
4"

NOTE:-

STRUCTURAL FRAME DETAIL-4
OBSERVATION TOWER

1. ALL DIMENSIONS ARE IN FEET & INCHES UNLESS OTHERWISE SPECIFIED.

DETAIL OF STEP
SCALE=1:25

STIFFENER PLATE
1/2" THK

PAD PLATE
1/2" THK.

TYP. STEP ASSEMBLY
SCALE=1:25

3"
 P

IP
E

STIFFENER PLATE
1/2" THK

PAD PLATE
1/2" THK.

GALVANIZED STEEL
SAFETY MESH
(TYP.)

4'
-6

"
3'

-6
"

10
'-0

"

5'-0"

3"
 P

IP
E

3"
 P

IP
E

2" PIPE

2" PIPE

2'
-0

"

BASE PLATE
2.5" x 2.5" x 1/4" THK

TYP.DETAIL OF HANDRAIL
SCALE=1:25

1/4"(TYP)

GALVANIZED STEEL
SAFETY MESH

(TYP.)

PLAN
SCALE=1:10

ELEVATION
SCALE=1:10

SIDE VIEW
SCALE=1:10

ARRANGEMENT FOR
CONNECTION OF MESH & PIPE

PLATE

CLAMP

BOLT

RAILING PIPE

 FLAT NO.102 , D-11 , SPANDAN RESIDENCY , POPULAR NAGAR ,
 OPP.MAI MANGESHKAR HOSPITAL , PUNE-MUMBAI BYPASS

 HIGHWAY ; WARJE, PUNE, INDIA - 411058,
Contact : +91 9552541988 Email : cvpcepl@gmail.com

" M/S. C.V.PATIL & ASSOCIATES "

VARIES TO
2'-0"

SECTION  ' 8 - 8 '
SCALE=1:10

PLAN OF STAIRCASE
SCALE=1:25

8

8

DETAILS OF RAILING & MESH FOR STAIRCASE
SCALE=1:50

4'
-6

"
3'

-6
"

2'
-0

"

10
'-0

"

5'-0"

3"

5"

2"

3"

7"

22
°

10
'-0

"

60
'-0

"

EL+60'.00
(T.O.S.)
PLATFORM-6

EL+40'.00
(T.O.S.)
PLATFORM-4

EL+20'.00
(T.O.S.)
PLATFORM-2

SECTIONAL DETAILS OF STAIRCASE 
SCALE=1:75

EL+50'.00
(T.O.S.)
REST LANDING

EL+30'.00
(T.O.S.)
REST LANDING

EL+10'.00
(T.O.S.)
REST LANDING

10
'-0

"
10

'-0
"

10
'-0

"
10

'-0
"

10
'-0

"

4'-6"
1'

5'-1"

SCALE=1:75

SECTIONAL DETAILS OF HANDRAIL
FOR CENTRAL COLUMN

AutoCAD SHX Text
REVISION DATES

AutoCAD SHX Text
DRAWING No.

AutoCAD SHX Text
CHECKED:

AutoCAD SHX Text
BACKCHECKED:

AutoCAD SHX Text
CORRECTED:

AutoCAD SHX Text
VERIFIED:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
20

AutoCAD SHX Text
SCALE IN FEET

AutoCAD SHX Text
0

AutoCAD SHX Text
40

AutoCAD SHX Text
80

AutoCAD SHX Text
SHEET 7 OF 10

AutoCAD SHX Text
SASTRY & ASSOCIATES, INC.

AutoCAD SHX Text
ALPHARETTA, GA 30022

AutoCAD SHX Text
11030 JONES BRIDGE ROAD, SUITE 201

AutoCAD SHX Text
PHONE: 678-366-9375

AutoCAD SHX Text
06-14-2023

AutoCAD SHX Text
SASTRY STAMP

uspra
Snapshot



F1

12'-2" 12'-2"
24'-4"

12
'-2

"
12

'-2
"

24
'-4

"

P1

P1 P1

P1
F1

F1

F1F1

24'-4"

# 4 @ 8" O.C.
E.A. WAY9'-31

2" 9'-31
2"

WELL
COMPACTED SOIL
(PROCTOR
DENSITY OF 105%)

PLINTH
BEAM

BASE SLAB

1'
-1

1"
2'

-8
"

1'
-1

1"

1'-11" 2'-8" 1'-11" 4"
TYP.

6'-6"

6'
-6

"

2'
-6

"
3'

-0
"

1'-11" 4"
TYP.

2'-8" 1'-11"
6'-6"

2'-8"

12 - #5

# 4 @ 4" C/C

# 4 - 12 nos.
EA. WAYS

# 4 @ 4" C/C

12 - #5

E

3'-
0"

17'-0"

14'-11"

1'
-0

"
2'

-0
"

3'-0"

26 - #4

3'
-0

"

# 4 @ 8" C/C

26 - #4

# 4 @ 8" C/C
F

6"3 - #5

3 - #5

# 4 @ 6" C/C
STIRRUPS

1'-3"

1'
-9

"

# 5-2nos.
EXTRA AT TOP

PLAN
FOUNDATION & CENTER LINE

SCALE=1:100

NOTE:-

FOUNDATION & PEDESTAL
OBSERVATION TOWER

1. ALL DIMENSIONS ARE IN FEET & INCHES UNLESS OTHERWISE SPECIFIED.
2. FOR CONNECTION DETAILS D11,12 REFER SHEET NO.- 10 OF 10.

SECTIONAL DETAILS OF GROUND BEAM-GB1
SCALE=1:25 SECTION  ' H - H '

DETAILS OF BASE SLAB
SCALE=1:50

SECTION  ' F - F '
SCALE=1:25

PLAN
CONCRETE SEATING

SCALE=1:25

F

PLAN
CONCRETE PEDESTAL & FOOTING

SCALE=1:25

E

SECTION  ' E - E '
SCALE=1:25

FINISHED
GROUND LINE

FINISHED
GROUND LINE

P1

PEDESTAL
FOR COLUMN (TYP.)

FOOTING FOR
COLUMN PEDESTAL
(TYP.)

FINISHED
GROUND LINE

FINISHED
GROUND LINE

# 4 @ 8" C/C

4 - #4

1'
-0

"

1'-0"

1'-0"

1'
-6

"

UP

SECTION  ' G - G '
SCALE=1:25

PLAN
CONCRETE PEDESTAL

FOR FLOOD LIGHTS
SCALE=1:25

# 4 @ 8" C/C
STIRRUPS

4 - #4

G G

12'-2" 12'-2"
24'-4"

12
'-2

"
12

'-2
"

24
'-4

"

GB1

GB1

G
B1

G
B1

GB1

GB1

17
'-2

"

17'-2"

P1

P1

SEATING (TYP.)

9'-31
2" 9'-31

2"

H H

PLAN
GROUND BEAM AT EL+00'.00

SCALE=1:100

P1

P1
P1

2'-0"

4'-3"TYP.

R21'-5"

(TYP.)
DETAIL-D12

DETAIL-D11

1'
-0

"
0'

-6
"

 FLAT NO.102 , D-11 , SPANDAN RESIDENCY , POPULAR NAGAR ,
 OPP.MAI MANGESHKAR HOSPITAL , PUNE-MUMBAI BYPASS

 HIGHWAY ; WARJE, PUNE, INDIA - 411058,
Contact : +91 9552541988 Email : cvpcepl@gmail.com

" M/S. C.V.PATIL & ASSOCIATES "

FINISHED
GROUND LINE

4" GRADED ARG. BASE CRS.

3" C
LR

.

1'
-0

"

1'-0"

PLAN
CONCRETE PEDESTAL FOR

PVC FENCE
SCALE=1:25

J J

3'
-0

"

1'-0"

3" C
LR

.

PVC FENCE
(TYP.)

FINISHED
GROUND LINE

SECTION  ' J - J '
CONCRETE PEDESTAL FOR

PVC FENCE
SCALE=1:25

10
'-0

"

CLASS B
CONCRETE

4" GRADED ARG.
BASE CRS.

AutoCAD SHX Text
REVISION DATES

AutoCAD SHX Text
DRAWING No.

AutoCAD SHX Text
CHECKED:

AutoCAD SHX Text
BACKCHECKED:

AutoCAD SHX Text
CORRECTED:

AutoCAD SHX Text
VERIFIED:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
20

AutoCAD SHX Text
SCALE IN FEET

AutoCAD SHX Text
0

AutoCAD SHX Text
40

AutoCAD SHX Text
80

AutoCAD SHX Text
SHEET 8 OF 10

AutoCAD SHX Text
SASTRY & ASSOCIATES, INC.

AutoCAD SHX Text
ALPHARETTA, GA 30022

AutoCAD SHX Text
11030 JONES BRIDGE ROAD, SUITE 201

AutoCAD SHX Text
PHONE: 678-366-9375

AutoCAD SHX Text
06-14-2023

AutoCAD SHX Text
SASTRY STAMP

uspra
Snapshot



MISCELLANEOUS DETAILS-1
OBSERVATION TOWER

1/4"

2"
63 4"

4"

11 2" 3"

W 10 x 30

W
 1

0 
x 

30

L50 50 10

3
4"

PLAN
SCALE=1:10

Ø 7/8" HOLE
FOR 3/4" BOLT
4" LONG

ELEVATION
SCALE=1:10

SIDE VIEW
SCALE=1:10

TYP. BEAM TO BEAM CONNECTION

1"
61 4"

1"

3"

3
4"

2"
3"

2"

W
 8

 x
 4

0C 9 x 15

1/4"

L50 50 10

11 2"
61 4"

23 4"

3"

3
4"

13 4"
3"

13 4"

W
 1

0 
x 

30C 9 x 15

1/4"

L50 50 10

11 4"
11 2"

11 4"
53 4"

31 2"

11 2"
3"

11 2"3"

W
 1

0 
x 

30

W 8 x 40

1/4"

L50 50 10

PLAN
SCALE=1:10

Ø 7/8" HOLE
FOR 3/4" BOLT

4" LONG

ELEVATION
SCALE=1:10

SIDE VIEW
SCALE=1:10

Ø 7/8" HOLE
FOR 3/4" BOLT
4" LONG

ELEVATION
SCALE=1:10

PLAN
SCALE=1:10

SIDE VIEW
SCALE=1:10

PLAN
SCALE=1:10

Ø 7/8" HOLE
FOR 3/4" BOLT

4" LONG

ELEVATION
SCALE=1:10

SIDE VIEW
SCALE=1:10

1/4"

2"
63 4"

4"
11 2"

31
4"

DETAIL AT - `D5'

W 10 x 30

W 10 x 30

5/8" THK.

5"

PLAN
SCALE=1:10

Ø 7/8" HOLE
FOR 3/4" BOLT
4" LONG

ELEVATION
SCALE=1:10

SIDE VIEW
SCALE=1:10

11
"

3"
3"

4" 31
2"

11
4"

1
2"

31
4"

11
2"

4"

1"
2"

2-L5 x 5 x 5/8"

5/8" THK.

1/2" THK.

1"

11
2"

41
2"

1/4"

DETAIL AT - ' D6 '
SCALE=1:10

Ø 7/8" HOLE
FOR 3/4" BOLT 4" LONG

TYP. COLUMN TO BEAM CONNECTION

3"
10

1 2"
3"

1'
-4

1 2"

51
4"3

4"

31
2"4"41

2"

11
2"

31
4"

11 4"

21 4"
21 4"

21 4"

83 4"
3 4"

11
2"

1
2"

5/8" THK.

1/2" THK.

1/4"

W 10 x 30

83 4"

11 4"

21 4"
21 4"

21 4"

3"
3"

4"
11
2"

11
2"

11
2"

5/8" THK.

1/4"

W 10 x 30

10
1 2"

41
2"3

4"

11
4"

31
4"

11 4"

21 4"
21 4"

21 4"

83 4"
3 4"

1/2" THK.

1/4"

W 10 x 30

11
2"

11
2"

Ø 7/8" HOLE
FOR 3/4" BOLT
4" LONG

DETAIL AT - ' D7 '
SCALE=1:10

DETAIL AT - ' D9 '
SCALE=1:10

Ø 7/8" HOLE
FOR 3/4" BOLT
4" LONG

5/8" THK.

Ø 7/8" HOLE
FOR 3/4" BOLT
4" LONG

PAD PLATE
1' 4 1/2 " x 3" x 1/2"DETAIL AT - ' D8 '

SCALE=1:10

1/2" THK.
GUSSET
PLATE

DETAIL AT - `D1' DETAIL AT - `D2' DETAIL AT - `D3' DETAIL AT - `D4'

PLAN
SCALE=1:10

ELEVATION
SCALE=1:10

SIDE VIEW
SCALE=1:10

PLAN
SCALE=1:10

SIDE VIEW
SCALE=1:10

ELEVATION
SCALE=1:10

PLAN
SCALE=1:10

SIDE VIEW
SCALE=1:10

ELEVATION
SCALE=1:10

PLAN
SCALE=1:10

SIDE VIEW
SCALE=1:10

 FLAT NO.102 , D-11 , SPANDAN RESIDENCY , POPULAR NAGAR ,
 OPP.MAI MANGESHKAR HOSPITAL , PUNE-MUMBAI BYPASS

 HIGHWAY ; WARJE, PUNE, INDIA - 411058,
Contact : +91 9552541988 Email : cvpcepl@gmail.com

" M/S. C.V.PATIL & ASSOCIATES "

AutoCAD SHX Text
REVISION DATES

AutoCAD SHX Text
DRAWING No.

AutoCAD SHX Text
CHECKED:

AutoCAD SHX Text
BACKCHECKED:

AutoCAD SHX Text
CORRECTED:

AutoCAD SHX Text
VERIFIED:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
SHEET 9 OF 10

AutoCAD SHX Text
SASTRY & ASSOCIATES, INC.

AutoCAD SHX Text
ALPHARETTA, GA 30022

AutoCAD SHX Text
11030 JONES BRIDGE ROAD, SUITE 201

AutoCAD SHX Text
PHONE: 678-366-9375

AutoCAD SHX Text
06-14-2023

AutoCAD SHX Text
SASTRY STAMP

uspra
Snapshot



6"

11 2"
31 4"

11 2"

11
2"

31
4"

5/8" THK.

W 10 x 30

W 8 
x 4

0

Ø 7/8" HOLE
FOR 3/4" BOLT 4" LONG
PAD PLATE
14" x 10" x 1/2"

TYP.DETAIL OF KNEE BRACING
SCALE=1:10

73
4"

73 4"

1'-8"

1'
-8

"

2"
8"

8"
2"

2"8"8"

2'-43
4"

1'-83
4"

1'-03
4"

1" THK.

1'
-6

"

1'
-3

"
2"

1/2" THK.

COLUMN

Ø1",
1" BOLT

8nos.

STIFFENER
PLATE

1/2" THK.
STIFFENER
PLATE
1/2" THK.

Ø1",
1" BOLT
8nos.PLAN OF BASE PLATE DETAIL

SCALE=1:10

2"

STIFFENER PLATE DETAIL
SCALE=1:10

Ø1", 3/4" BOLT
4 nos.

1/2" THK.

2"

1'-6"

1'-3"2" 2"

PLAN CAP PLATE DETAIL
SCALE=1:10

10
"

1'-3"

6" 1"

7"
11 2" VIEW FROM - A

6"1"

8"
MINIMUM

TYP.DETAILS OF COLUMN TO RAFTER WELDING
SCALE=1:10

STAIRCASE
SUPPORTING COLUMN

PAD PLATE
1/2" THK.

1/4"

COLUMN

A

PAD PLATE
1/2" THK.

HSS 8 x 4 x 3/8"HSS 8 x 4 x 3/8"

A
Ø 7/8" HOLE
FOR 3/4" BOLT
4" LONG

TYP.DETAIL OF BRACING
SCALE=1:10

GUSSET PLATE
7/8" THK

3/8"

2"

2
1 4
"

2
1 4
"

Ø 7/8" HOLE
FOR 3/4" BOLT
4" LONG

3
4 "

3
4 "

1'
-5

"

9"
7"

1"

1'-5"

9" 7" 1"

1/4"

1'-5"
=I=

TYP.DETAIL OF COLUMN TO RAFTER JOINT

1/2" THK.

Ø 7/8" HOLE
FOR 3/4" BOLT
4" LONG

1/4"

1/4"
1/2" THK.

81 8"

107
8"

8"13
8"

6"
1"HSS 8 x 4 x 3/8"

HSS 8 x 4 x 3/8"

K

DETAIL AT - K

31 2"

TYP.DETAILS OF RAFTER MOUNTING BRACKET
SCALE=1:10

Ø 7/8" HOLE
FOR 3/4" BOLT
4" LONG

13 4"
3"

13 4"

53
4"

3"11
2"

51 2"

51
4"

1/4"

1/2" THK.

3 8"

TYP.DETAIL OF PURLIN CLEAT

63 4"

11 2"

2"
2"

11 2"

4"

11
2"

6"

6"
1"

3"
1"

11
2"21

4"

6"
2"

5/8" THK.

5/8" THK.

TYP.DETAIL OF CANTILEVER
SCALE=1:10

Ø 7/8" HOLE
FOR 3/4" BOLT
4" LONG

MISCELLANEOUS DETAILS-2
OBSERVATION TOWER

45°

1/4"

DETAIL AT - `D16'

DETAIL AT - `D10'

DETAIL AT - `D18'

ELEVATION
SCALE=1:10

PLAN
SCALE=1:10

DETAIL AT - `D14' DETAIL AT - `D15'

DETAIL AT - `D13'

DETAIL AT - `D12'PLAN OF BASE PLATE DETAIL
SCALE=1:10

DETAIL AT - `D11'

DETAIL AT - `D10A'

 FLAT NO.102 , D-11 , SPANDAN RESIDENCY , POPULAR NAGAR ,
 OPP.MAI MANGESHKAR HOSPITAL , PUNE-MUMBAI BYPASS

 HIGHWAY ; WARJE, PUNE, INDIA - 411058,
Contact : +91 9552541988 Email : cvpcepl@gmail.com

" M/S. C.V.PATIL & ASSOCIATES "

DETAIL D10A

DETAIL AT - `D17'

Ø 7/8" HOLE
FOR 3/4" BOLT

4" LONG

SIDE VIEW
SCALE=1:10

ELEVATION
SCALE=1:10

31 4"

11 2"

45°

11
2" 31

4" 11
2"

6"

Ø 7/8" HOLE
FOR 3/4" BOLT 4" LONG

PAD PLATE
14" x 10" x 1/2"

AutoCAD SHX Text
REVISION DATES

AutoCAD SHX Text
DRAWING No.

AutoCAD SHX Text
CHECKED:

AutoCAD SHX Text
BACKCHECKED:

AutoCAD SHX Text
CORRECTED:

AutoCAD SHX Text
VERIFIED:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
SHEET 10 OF 10

AutoCAD SHX Text
SASTRY & ASSOCIATES, INC.

AutoCAD SHX Text
ALPHARETTA, GA 30022

AutoCAD SHX Text
11030 JONES BRIDGE ROAD, SUITE 201

AutoCAD SHX Text
PHONE: 678-366-9375

AutoCAD SHX Text
06-14-2023

AutoCAD SHX Text
SASTRY STAMP

uspra
Snapshot



SECTION `A-A'

PLATFORM AT EL+20'.00

PLATFORM AT EL+40'.00

SECTION `B-B'

SECTION `C-C'

PLATFORM AT EL+60'.00

VIEW FROM - `D-D'

PLAN FOR CANOPY

AA

BB

CC

DD

1

A(2) A(2)

A(2) A(2)

A(2) A(2)

A(2) A(2)

ELECTRICAL KEY NOTES

ELECTRICAL CONTRACTOR SHALL PROVIDE 120V, 20A-1P VERTICAL

CONNECTION TO SURFACE MOUNTED DOWNLIGHTS BELOW / ABOVE.

EACH LEVEL OF LIGHTING SHALL BE CONTROLLED BY SEPERATE,

DEDICATED CONTROL DEVICE.

ELECTRICAL CONTRACTOR SHALL LOCATE EXISTING 120V, 20A-1P

BREAKER IN EXISTING BUILDING PANEL AND PROVIDE 120V CONNECTION

TO LIGHTING SYSTEM. ROUTE  3#10 AWG FROM EXISTING BREAKER TO

LIGHTS.

ELECTRICAL CONTRACTOR SHALL ROUTE ALL LIGHTS THROUGH

PHOTOELECTRIC CELL AND WEATHERPROOF TIME CLOCK. COORDINATE

EXACT LOCATION OF TIME CLOCK AND ON/OFF SCHEDULE WITH OWNER

PRIOR TO ROUGH-IN.

ELECTRICAL CONTRACTOR SHALL INSTALL / PROVIDE WEATHERPROOF

KEYLOCK BOX. KEYLOCK BOX SHALL CONTAIN ALL LIGHTING CONTROL

SYSTEM SWITCHES. EXACT LOCATION OF KEYLOCK BOX SHALL BE

COORDINATED WITH OWNER. PROVIDE THREE(3) LIGHT SWITCHES.

INTERLOCK LIGHTS ON EACH LEVEL TO CONTROL EACH LEVEL OF THE

LIGHTS..

1

1

2

3

P.E CELL

1

ASTRONOMICAL

TIME CLOCK

1

2 3

ELECTRICAL GENERAL NOTES

G1        PROJECT DESIGN IS BASED UPON THE 2020 EDITION OF THE NATIONAL ELECTRICAL
CODE.

G2 WHEN CONDUCTOR OR CONDUIT SIZE IS INDICATED FOR BRANCH CIRCUIT
HOMERUN,  THE CONDUCTOR AND CONDUIT SIZE INDICATED SHALL BE USED FOR
THE COMPLETE CIRCUIT.

G3 REFER TO THE APPROPRIATE DRAWINGS (INCLUDING STRUCTURAL DRAWINGS) FOR
THE EXACT LOCATION OF EQUIPMENT INSTALLED UNDER OTHER DIVISIONS OF THE
DOCUMENTS WHICH REQUIRE ELECTRICAL SERVICE.

G4 CAPITAL LETTER BESIDE LIGHTING SYMBOL INDICATES FIXTURE TYPE.  REFER TO
LIGHTING FIXTURE SCHEDULE FOR FIXTURE SELECTION.

G5 CONTRACTOR SHALL ENSURE TO THE GREATEST EXTENT POSSIBLE THAT LOADS ON
THE ELECTRICAL DISTRIBUTION SYSTEM ARE PHASED-BALANCED.  WHERE
MULTI-METER PACKS ARE INSTALLED, EQUIPMENT LUGS SHALL BE ADJUSTED
ACCORDINGLY TO BALANCE PHASES.

G6        ELECTRICAL CONTRACTOR SHALL COORDINATE ALL MOUNTING OF ELECTRICAL
DEVICES WITH STRUCTURAL ARCHITECT PRIOR TO ROUGH-IN.

A A

A A

A A

A A

A A

A A

A A

A

A

A

BB

2

4

3

KEYLOCK

CONTROL BOX

4

E1.00

AutoCAD SHX Text
REVISION DATES

AutoCAD SHX Text
DRAWING No.

AutoCAD SHX Text
CHECKED:

AutoCAD SHX Text
BACKCHECKED:

AutoCAD SHX Text
CORRECTED:

AutoCAD SHX Text
VERIFIED:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
20

AutoCAD SHX Text
SCALE IN FEET

AutoCAD SHX Text
0

AutoCAD SHX Text
40

AutoCAD SHX Text
80

AutoCAD SHX Text
LIGHTING LAYOUT

AutoCAD SHX Text
SASTRY & ASSOCIATES, INC.

AutoCAD SHX Text
ALPHARETTA, GA 30022

AutoCAD SHX Text
11030 JONES BRIDGE ROAD, SUITE 201

AutoCAD SHX Text
PHONE: 678-366-9375

AutoCAD SHX Text
04-10-2023

AutoCAD SHX Text
OBSERVATION TOWER

AutoCAD SHX Text
D

AutoCAD SHX Text
I

AutoCAD SHX Text
E

AutoCAD SHX Text
E

AutoCAD SHX Text
T

AutoCAD SHX Text
S

AutoCAD SHX Text
I

AutoCAD SHX Text
E.

AutoCAD SHX Text
G

AutoCAD SHX Text
I

AutoCAD SHX Text
H

AutoCAD SHX Text
E

AutoCAD SHX Text
No. 30595

AutoCAD SHX Text
PROFESSIONAL

AutoCAD SHX Text
PROFESSIONAL

AutoCAD SHX Text
W

AutoCAD SHX Text
N

AutoCAD SHX Text
I

AutoCAD SHX Text
G

AutoCAD SHX Text
N

AutoCAD SHX Text
E

AutoCAD SHX Text
R

AutoCAD SHX Text
G

AutoCAD SHX Text
G

AutoCAD SHX Text
E

AutoCAD SHX Text
E

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
D

AutoCAD SHX Text
E

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
O

AutoCAD SHX Text
G

AutoCAD SHX Text
T

AutoCAD SHX Text
B

AutoCAD SHX Text
E

AutoCAD SHX Text
A

AutoCAD SHX Text
S

AutoCAD SHX Text
L

AutoCAD SHX Text
E

AutoCAD SHX Text
Y

AutoCAD SHX Text
Dwight E Beasley

AutoCAD SHX Text
DEB

AutoCAD SHX Text
4/7/23

AutoCAD SHX Text
DEB

AutoCAD SHX Text
4/7/23

AutoCAD SHX Text
SCALE:

AutoCAD SHX Text
2

AutoCAD SHX Text
E1.00

AutoCAD SHX Text
%%UEXTERIOR LIGHT CONTROL

AutoCAD SHX Text
NTS

AutoCAD SHX Text
PANEL 

AutoCAD SHX Text
LIGHTING

AutoCAD SHX Text
TO EXTERIOR

AutoCAD SHX Text
EXISTING

AutoCAD SHX Text
CONTROL

AutoCAD SHX Text
PHOTOCELL

AutoCAD SHX Text
ELECTROMECHANICAL TIMECLOCK

AutoCAD SHX Text
C

AutoCAD SHX Text
TC

AutoCAD SHX Text
PARAGON #ET8215C SERIES

AutoCAD SHX Text
AS REQUIRED)

AutoCAD SHX Text
7 DAY 2-CHANNEL

AutoCAD SHX Text
MULTI-POLE MECHANICALLY

AutoCAD SHX Text
HELD CONTACTOR. (POLES

AutoCAD SHX Text
3#12C, W/G

AutoCAD SHX Text
ROOF MOUNTED PHOTOCELL

AutoCAD SHX Text
FACING TRUE NORTH

AutoCAD SHX Text
ROOF

AutoCAD SHX Text
SCALE:

AutoCAD SHX Text
1

AutoCAD SHX Text
E1.00

AutoCAD SHX Text
%%ULIGHTING PLANS

AutoCAD SHX Text
NTS

AutoCAD SHX Text
S

AutoCAD SHX Text
S

AutoCAD SHX Text
S

AutoCAD SHX Text
LVL 1 LITES

AutoCAD SHX Text
LVL 2 LITES

AutoCAD SHX Text
LVL 3 LITES

AutoCAD SHX Text
GROUND LITES



E1,.01

AutoCAD SHX Text
REVISION DATES

AutoCAD SHX Text
DRAWING No.

AutoCAD SHX Text
CHECKED:

AutoCAD SHX Text
BACKCHECKED:

AutoCAD SHX Text
CORRECTED:

AutoCAD SHX Text
VERIFIED:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
20

AutoCAD SHX Text
SCALE IN FEET

AutoCAD SHX Text
0

AutoCAD SHX Text
40

AutoCAD SHX Text
80

AutoCAD SHX Text
LIGHTING LAYOUT

AutoCAD SHX Text
SASTRY & ASSOCIATES, INC.

AutoCAD SHX Text
ALPHARETTA, GA 30022

AutoCAD SHX Text
11030 JONES BRIDGE ROAD, SUITE 201

AutoCAD SHX Text
PHONE: 678-366-9375

AutoCAD SHX Text
04-10-2023

AutoCAD SHX Text
OBSERVATION TOWER

AutoCAD SHX Text
D

AutoCAD SHX Text
I

AutoCAD SHX Text
E

AutoCAD SHX Text
E

AutoCAD SHX Text
T

AutoCAD SHX Text
S

AutoCAD SHX Text
I

AutoCAD SHX Text
E.

AutoCAD SHX Text
G

AutoCAD SHX Text
I

AutoCAD SHX Text
H

AutoCAD SHX Text
E

AutoCAD SHX Text
No. 30595

AutoCAD SHX Text
PROFESSIONAL

AutoCAD SHX Text
PROFESSIONAL

AutoCAD SHX Text
W

AutoCAD SHX Text
N

AutoCAD SHX Text
I

AutoCAD SHX Text
G

AutoCAD SHX Text
N

AutoCAD SHX Text
E

AutoCAD SHX Text
R

AutoCAD SHX Text
G

AutoCAD SHX Text
G

AutoCAD SHX Text
E

AutoCAD SHX Text
E

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
D

AutoCAD SHX Text
E

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
O

AutoCAD SHX Text
G

AutoCAD SHX Text
T

AutoCAD SHX Text
B

AutoCAD SHX Text
E

AutoCAD SHX Text
A

AutoCAD SHX Text
S

AutoCAD SHX Text
L

AutoCAD SHX Text
E

AutoCAD SHX Text
Y

AutoCAD SHX Text
Dwight E Beasley

AutoCAD SHX Text
DEB

AutoCAD SHX Text
4/7/23

AutoCAD SHX Text
DEB

AutoCAD SHX Text
4/7/23


	SHEET 1 OF 10
	Model

	SHEET 2 OF 10
	Model

	SHEET 3 OF 10
	Model

	SHEET 4 OF 10
	Model

	SHEET 5 OF 10
	Model

	SHEET 5A OF 10
	Model

	SHEET 6  OF 10
	Model

	SHEET 7  OF 10
	Model

	SHEET 8  OF 10
	Model

	SHEET 9  OF 10
	Model

	SHEET 10  OF 10
	Model


